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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 3469 + 4531 =? [1%)]
2) 8275-4999 =? [1%)]
3) 4x9%x5=7 [1%]
4) 26 X8 =7 [1%]
5) 72+4=7? [1%)]
6) 333+9=7 [1%)]
7) 45x54=7? [1%)]
8) 1001 +13="7? [1%)]
9) 32Xx8-100+5=7 [1%)]
10) 1000 + (209-12 X 7) = ? [1%)]
11) 75 X (46 + 204 =+ 6) = ? [1%)]
12) 258 + 657 + 27 X 27 = ? [1%)]
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13) Evaluate 173 + 1; + 193 . (Give your answer in fraction.) [10/0]

e 7,011, 9
T & 13 T3 T3 e ERMSBRT.)

14) Evaluate 8 — 2 1% -3 190 . (Give your answer in fraction.) [1 0/o]

& 8 - 21—30 — 3% o (BRUNHBRT. )

1 5) Evaluate 1 1—85 — (3% — 2% ) . (Give your answer in fraction.) [1 o/o]

SR 1_85 - (3ﬂ - ZE) o (ERUAMET. )

15 15
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16) John can solve 32 math problems every day. How  [2.0%]
many days does he need to solve 1056 math problems?

INBE XM 32 EHEER BMEEZDXARETR
1056 EEZ2rE?

17) Ada’s height is 169 cm, which is 32 cm shorter than ~ [2.1%)]

Billy. If Billy’s height is 3 times that of Carmen, find
Carmen’s height in cm.

AHESSE 169 EX, LhZE32EX, MZHES
=AM 3. MANSSEESZDEK?

18) Find the Least Common Multiple of 18 and 24. [2.2%]

K 18 #1 24 I /INNEEL.




19) Find the Highest Common Factor of 30, 45 and 60. [2.3%)]

3k 30. 45 1 60 FIm K FEL.

20) The perimeter of a rectangle is 72 cm. Its length is  [2.4%)]
19 cm. What is the width of the rectangle in cm?

—ERAEHNEAARAR 72EX, RE 19EX, EfE:Z
ZEXK?
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21) Which quadrilateral has 1 pair of parallel sides [2.5%]

only?
M—fEMEf R E — 4 EE (T
22) Find the sum of all the factors of 64. [2.6%]

64 FIFFEREEZFE Z /7
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23) Abusis 6% m longer than a car while the caris  [2.7%)]
/

Sﬁ m shorter than a lorry. If the bus is 11% m

long, how long is the lorry in m?

BE+HEER 13 K, WRKER 615 k. HBEK
sibisE sl k. MEERSDK?

24) A chicken weighed 4 kg. After eating 2% kg of it, [2.8%]
how much heavier is the part eaten than the

remaining part in kg?

BHHE 4 AF, BE 2% AR, BEEHNERL
BTRZEAT?
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25) What is the perimeter of the figure below in m? [2.9%)]
LTEFRARARZEZDK?
” 35m .
9 mI
+—>
19 m
16 mI

28 m +«—>

11T m
26) What is the area of the figure below in cm?? [3.0%]

UTEFENEEES D EREKR?

8 cm

8 ch 22 cm

A

22 cm
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27) How many line(s) of symmetry are there in the [3.1%]
figure below?

U TEfAZ D&

28) If the 6-digit number 26A539 is divisible by 11, find ~ [3.2%)]
the value of A.

MR SHLET 26A539 ATLA#E 11 &, K A BY
EE.
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29) Arrange the following fractions from the smallest [3.3%]
to the largest.

BT D e /NERHETH K

49 28 37
66’ 45' 54
30) Write % as a decimal. [3.4%)]

9 w
?EE B —{E/NEL
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31) An integer has 3 factors P, O and R only. [4.0%]
fP <O <R, thenO X Q=7

HHEOE=@AEEZ P. 0. R> ME P < QO < R. B
BOoOxQ="7"

32) How many 3-digit numbers are there so that the [4.1%)]
sum of its digits is 57

B VE=ZNENSESHFZME 57

P10
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33) There are two integers. Their sum is 53 and their [4.2%)]
difference is 15. Find the larger integer.

AmEEE, EfHMEs3, MEMNER 15.
KK B

34) If the 5-digit number 492AB is divisible by 33, find [4.3%]
the largest possible value of the 2-digit number AB.

MR FAHIEL 492AB "TLAHE 33 R, KMAIEL AB Y
B KA HE{E

P11
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35) From 1 to 2019, how many numbers are multiples  [4.4%]
of 12 but not multiples of 15?

B 1ZE 2019, EZ/MEAHFER 12 HEE, BXRRE
15 RO{ZEL?

36) 17 people are going to cross the river. There is a  [4.5%)]
boat which can carry 3 people. At least 1 person is
needed to paddle the boat and it takes 5 minutes
for the boat to cross the river. If all of the people
know how to paddle the boat, at least how many
minutes are needed so that all of the people can
cross the river?

17 EESNRHATIET . RE—ETR 3 A/
M. VERE 1 AR WRMEETRE 554
RAENEARDEES b HH?

P12
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37) Shape 1is asquare of side 1 cm. Shape 2 is formed  [4.6%)]
by piecing Shape 1 with a square of side 2 cm.
Shape 3 is formed by piecing Shape 2 with a
square of side 3 cm, and so on. What is the perimeter
of Shape 100 in cm?

mE R, BfR1R—EERRE 1 EXNEARE.
Ef 2 SmHER 1 I—EAERE 2 EXNEARR
Bimlk. B 3 SEER 2 M—FEER:E 3 E
AKWIEFREHMA, WMILEHE. EEF 100 HE

AEBVEX?
1Tcm 1Tcm 2am 1cm 2cm 3cm
Shape 1 Shape 2 Shape 3
[E 2 1 B2 B3

P13
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38) 3 boys and 5 girls are divided into 2 rows to takea [4.7%)]
photo. If the students with the same gender must
be on the same row, find the number of ways to
arrange the students.

3MRBAM 5 HEENKMITAKREE. MREIT
HMEAATAEHEHBEMANZE, MEEXE S DEHT
RAE?

39) Nisaninteger. When 73, 199 or 346 is divided [4.8%)]
by N, the same remainder will be obtained.
Find the largest possible value of N.

N 2—EEH, & 73. 199 3K 346 FRLL N HIBFHE
BBHME—H. NRAESID?

P14
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40) How many diagonals does a regular 10-sided polygon  [4.9%]
have?

—{EE+BREA S MEHE AR

End of paper
£E57T

P15
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